1. The most common cause of scrotal enlargement, caused by an accumulation of serous fluid within the tunica vaginalis is:

a. elephantiasis

b. chylocele
c. hematocele
d. hydrocele 
e. lymphatic obstruction 

2. The failure of  testicular descent into the scrotum is called:
a. testicular atrophy

b. cryptorchidism 
c. verrucous carcinoma

d. orchiopexy

e. phimosis 
3. Choose cause of vascular disturbances of testis and its consequence:

a. orchiopexy

b. phimosis 

c. torsion 
d. testicular atrophy 
e. seminomas

         4. Schiller-Duvall bodies is:
a.  large nuclei with prominent nucleoli
b.  Mallory bodies

c.  structures resembling primitive glomeruli 
d. large cells with basophilic cytoplasm
e. koilocytosis
5. Benign prostatic hyperplasia virtually always occurs in: 
a. transitional zone of the prostate 
b. periurethral zone of the prostate 
c. central zone of the prostate 
d. peripheral zone of the prostate
e. distal urethra 

6. The  main cause of benign prostatic hyperplasia is: 

a. chronic prostatitis
b. bacille Calmette-Guérin

c. increased level of androgens
d. chronic pelvic pain syndrome
e. increased level of estrogens 
7.  The  main substrate of benign prostatic hyperplasia is: 

a) chronic prostatitis
b) bacille Calmette-Guérin

c) excessive estrogen-dependent growth of stromal and glandular elements 
d) chronic pelvic pain syndrome
e) excessive androgen-dependent growth of stromal and glandular elements
8. Most prostatic carcinomas arise from the:

a.  peripheral zone of the prostate 
b. central zone  of the prostate

c. proximal urethral zone of the prostate
d. periuretheral zone of the prostate
e. transitional zone of the prostate
9. Nodular hyperplasia of prostate arises from: 

a. central zone  of the prostate 
b. periurethral zone of the prostate 
c. periuretheral zone of the prostate
d. transitional zone of the prostate 

e. peripheral zone of the prostate
10.  The  main substrate of prostatic carcinomas is: 

a. chronic prostatitis
b. bacille Calmette-Guérin

c. excessive estrogen-dependent growth of stromal and glandular elements

d. chronic pelvic pain syndrome
e. excessive androgen-dependent growth of stromal and glandular elements 
11.  The consequences of  cryptorchidism are: 

a. testicular carcinoma 
b. phimosis

c. tubular  atrophy 
d. infertility 
e. prostatitis 

12. Morphological changes of testicles in cryptorchidism
a. normal size in early age 
b. microscopic evidence of tubular atrophy 
c. hyalinization of  basal membranes of seminiferous tubes
d. normal size on puberty

e. increased size on puberty
13. Causes of testicular inflammation include:

a. nonspecific epididymitis 

b. orchitis 
c. mumps 
d. tuberculosis 
e. AIDS
14. Select the variants of testicular torsion:
a. neonatal torsion 
b. adult torsion 
c. chromosomal abnormality

d. twisting of the spermatic cord 
e. the most common urologic emergencies

15. Identify testicular neoplasms characteristics:
a. occur in roughly 6 per 100,000 males 
b. peak incidence in the 15- to 34-year-old age group 
c. peak incidence in the 11- to 22-year-old age group

d. are the most common tumors in men

e. are the most rare tumors in men 

16. Testicular germ cell tumors are subclassified into:

a. seminomas 

b. neuroendocrine tumors

c. nonseminomatous germ cell tumors 
d. leydigomas

e. sertoliomas
17. Identify gross apearence of seminomas:

a. may contain foci of coagulation necrosis 
b. soft consistency 
c.  well-demarcated 
d. gray-white tumors that bulge from the cut surface 
e. contain foci of hemorrhage and  necrosis

18. Microscopically, seminomas are composed of:

a. large, uniform cells with distinct cell borders 
b.  clear, glycogen-rich cytoplasm 
c. large cells with basophilic cytoplasm

d.  round nuclei with conspicuous nucleoli 

e. large nuclei with prominent nucleoli

19. Yolk sac tumors are:
a. the most common primary testicular neoplasm in children younger than 3 years of age 
b.  it has a very bad prognosis 
c. in adults, yolk sac tumors most often are seen admixed with embryonal carcinoma 
d. on gross inspection, these tumors often are large 
e. a distinctive feature is the presence of  Schiller-Duvall bodies 
20. Condylomata acuminata may occur on:
a. the external genitalia or perineal areas 
b. breast
c. most often about the coronal sulcus 
d.  inner surface of the prepuce 
e. face
21. Identify characteristics of condylomata acuminata:
a. single  sessile, red papillary excrescences 
b. multiple pedunculated, red papillary excrescences 
c. cells of the spinous layer of the stratified squamous epithelium  with vacuolization of the cytoplasm  

d. acanthosis 
e. atypical basaloid cells
22. The most frequent agents that cause condylomata acuminata are:

a. HIV
b. HPV(human papilloma virus) type 6 
c. HPV (human papilloma virus) type 18

d. HPV (human papilloma virus) type  11

e. HPV (human papilloma virus) type 2
23. Choose the features for squamous cell carcinoma of the penis:
a. two macroscopic patterns: papillary (verrucous) and flat (ulcerated) 
b. macroscopically has cauliflower appearance

c. usually begins on the glans penis or inner surface of the prepuce near the coronal sulcus 
d. phimosis is not a risk factor
e. phimosis is a risk factor 
24.  Verrucous carcinoma of the penis is:
a.  an exophytic well-differentiated variant of squamous cell carcinoma 

b.  has low malignant potential 
c. are locally invasive 
d. secondary ulceration develops 

e. endophyte growth
25. Microscopically the typical seminoma is composed of:

a. intratubular germ cells 
b. sheets of uniform cells divided into poorly demarcated lobules 
c. delicate septa of fibrous tissue contain a moderate amount of lymphocytes 
d. large cells with distinct cell borders, pale nuclei with prominent nucleoli 
e. cells contain a round nucleus and eosinophilic cytoplasm;
26. The normal prostate contains several distinct zones, including:

a.  central zone 

b.  peripheral zone  

c. transitional zone 

d.  periurethral zone 
e. proximal urethral zone
27. Nodular hyperplasia of prostate: 

a. appears from the glands located in the central zone 

b. produces early urinary obstruction 
c. arises from glands located in periuretheral zone
d. are palpable during digital examination of the rectum

e. arises from glands located in peripheral zone 
28. Benign prostatic hyperplasia is characterized by:
a. proliferation of benign glandular elements and stroma 
b. hyperplastic glands are lined by two cell layers 
c. hyperplastic glands are lined by one cell layer

d. acute urinary obstruction  
e. proliferation of stratified squamous epithelium
29. Identify the factors involved in the pathogenesis of prostate cancer:

a. androgens 
b. estrogens
c. heredity 
d. external environment 
e. somatic mutations 
30. Characteristics of prostate carcinoma are:
a. occurs mainly in men older than 50 years of age 
b. is the less common form of cancer in men

c. advanced lesions appear as firm, gray-white foci 
d. lesions without well-defined margins that infiltrate the adjacent glands 
e. lesions without well -defined margins that don’t infiltrate the adjacent glands
31. The characteristic of malignant glands vs benign glands in prostate carcinoma:

a. malignant glands typically are smaller than benign glands 
b. malignant glands are lined by a single uniform layer of cuboidal or columnar epithelium 
c. malign glands are bigger than benign ones

d. the basal cell layer always present in malignant glands

e. malignant glands are crowded together and characteristically lack branching and papillary infolding 
32. Choose microscopic features for carcinoma of the prostate:

a. nuclei are enlarged and often contain one or more prominent nucleoli 
b. small  nuclei with prominent nucleoli

c. mitotic figures are uncommon 
d. irregular or ragged glandular structures 
e. pleomorphism is not marked  
33.  Choose the correct statements:

a. serum PSA measurement is a useful but imperfect prostate cancer screening test 
b. serum PSA measurement is very useful cancer screening test

c. most prostate cancers are clinically silent and are detected by routine monitoring of PSA concentrations 
d. the most common acquired genetic lesion in prostatic carcinomas are mutation of TPRSS2-ETS fusion genes 
e. the most common acquired genetic lesions in prostatic carcinomas are mutation of TPPRS2-TS fusion genes
34.  Choose the correct statements:

a. grading of prostate cancer is made by Gleason system 
b. Gleason system correlates with stage and prognosis of prostate cancer 
c. grading of prostate cancer is made by  Nottingham system
d. carcinoma of the prostate is a common cancer of old men between 65 and 75 years of age 
e. carcinoma of the prostate is a common cancer of young men between 30 and 35 years of age
35.  Choose the malformations of the urethral canal:

a. hypospadias 
b. epispadias 
c. phimosis

d. condyloma acuminatum

e. balanoposthitis

36.  Balanoposthitis characteristics are:

a. is infection of the glans penis and prepuce 
b. is caused by wide variety of microorganisms 
c. is inflammation of testis

d. is caused by HPV

e. may occur on the perineal areas

37.  Balanoposthitis is caused by:

a. candida albicans 
b. anaerobic bacteria 
c. gardinerella 
d. pyogenic bacteria 
e. human papillomavirus

38.  Most cases of balanoposthitis occur as a consequence of :

a. HPV type 16

b. congenital anomalies

c. poor local hygiene in uncircumcised males 
d. accumulation of desquamated epithelial cells, sweat 
e. condyloma acuminatum
39. Embryonal carcinoma characteristics are:

a. more aggressive than seminomas 
b. primary tumors are smaller than seminomas 
c. do not replace the entire parenchyma of testis 

d. frequently spread through the tunica albuginea into the epididymis 
e. slow-growing tumor that does not produce metastases

40.  Embryonal carcinoma characteristics are:

a. well formed glands are present

b. often variegated 
c. poorly demarcated at the margins 
d. foci of hemorrhage or necrosis 
e. the cells grow in alveolar patterns 
41.  Spermatocytic seminomas characteristics are:

a. soft consistency, pale gray color 
b. on cut surface, the tumor is often variegated

c. contain three cell populations 
d. lack lymphocytes, granulomas, syncytiotrophoblasts 
e. extratesticular sites of origin 
42.  Spermatocytic seminomas characteristics are:

a. is very common

b. slow-growing germ cell tumor 
c. occurs in old men 
d. 1% to 2% of all testicular germ cell neoplasm 
e. occurs in younger men
43.  Teratoma characteristics are:

a. testicular tumor with various cellular or organoid components 
b. contain reminiscent of normal derivatives of more than one germ layer 
c. may occur only in adults
d. may occur at any age 

e. pure form of teratoma is very rare in infants
44.  Teratomas characteristics are:

a. pure teratomas are rare in adults: 2% to 3 % 
b. pure forms are fairly common in infants and children 
c. frequency of teratomas mixed with other germ cell tumors is 45 % 
d. pure forms of teratomas are very rare in infants

e. about 65 % of teratomas are composed are pure
45.  Gross appearance of  teratomas:

a. usually small, ranging from 0,2 to 0,5 cm

b. usually large, ranging from 5 to 10 cm 
c. the variegated cut surface with cysts reflects the multiplicity of tissue types found histologically 
d. are composed of muscle bundles, structures reminiscent of thyroid gland 
e. fibrous or myxoid stroma 
46.  Identify types and characteristics of teratomas:

a. mature 
b. mixed

c. resembling various adult tissues 
d. immature 
e. sharing histologic features with fetal or embryonal tissue 
47.  Teratoma of the testis consist of:

a. disorganized glandular strucutures
b. cartilage 
c. smooth muscles 
d. immature stroma 
e. malignant cells
48.  Choose characteristics of teratomas:

a. in children, differentiated mature teratomas are benign 
b. in postpubertal males all teratomas are regarded as malignant 
c. malignant ones are capable of metastatic behavior whether the element are mature or not 
d. frequently malignant non-germ cell tumors arise in teratomas 

e. frequently benign germ cell tumors arise in teratomas
49.  Choose the correct statements for testicular tumors:

a. are the most common cause of painless testicular enlargement 
b. germ cells are the source of 95% of testicular tumors 
c. germ cell tumors may be composed of a single histologic pattern 60% of cases 
d. germ cell tumors may be composed of a single histologic pattern 40% of cases

e. mixed histologic pattern consists about 40% of cases 
50.  Choose  correct statements:

a. most commonly mixed tumors  is: embrional carcinoma plus teratoma 
b. one of the most commonly mixed tumor is: teratocarcinoma
c. most commonly mixed tumor is: seminoma plus choriocarcinoma

d. most commonly mixed tumor is: seminoma plus teratoma

e. the germ cell tumors with one  histologic pattern are: seminoma, embryonal carcinoma, yolk sac tumors, teratoma and choriocarcinoma 
51.  Choose  correct statements:

a. testicular germ cell tumors can be devided into two groups: seminomas and nonseminomas 
b. testicular germ cell tumors can be devided into three groups: seminomas, teratomas and nonseminomas

c. distant spread of seminomas is frequent 
d. seminomas spread mainly to paraaortic lymph nodes 
e. distant spread of seminomas is rare 
52.  Choose  correct statements:

a. nonseminomatous tumors  tend to spread earlier  
b. nonseminomatous tumors tend to spread by both lymfatics and blood vessels 
c. nonseminomatous tumors tend to spread later

d. non-germ cell tumors are: leydigoma and seminoma
e. non-germ cell tumors are: sertoli cell tumor and leydigoma 
53.  Leydig cell tumor characteristics are:

a. these tumor may elaborate androgens and corticosteroids 
b. in some cases androgens and estrogens 
c. may arise at any age 
d. most cases occurs between 20 and 60 years of age 
e. tumor are hormonally silent and is present as a testicular mass

54.  Choose features for leydig cell tumor:

a. circumscribed nodules, usually less than 5 cm 
b. circumscribed nodules, usually more than 5 cm

c. distinctive golden brown, homogeneous cut surface 
d. homogeneous gray-white to yellow cut surface

e. leydig cells are large in size

55.  Choose histologic features for leydig cell tumor:
a. abundant granular eosinophilic cytoplasm 
b. a round central nucleus 
c. rod-shaped crystalloids of  Reinke 
d. cytoplasm frequently contains lipid droplets, vacuoles, lipofuscin 

e. tumor cells are arranged in distinctive trabeculae

56.  Choose features of Sertoli cell tumor:

a. hormonally silent and present as a testicular mass 
b. small nodules with homogeneous gray-white to yellow cut surface 
c. most Sertoli cell tumors are benign 
d. 10 % of tumors pursue a malignant course 
e. 10% of tumors in adults are invasive and develop metastases
57. Identify the name of the pathologic process:

a. gynecomastia 
b. testicular seminoma
c. prostatic adenocarcinoma
d. glandular prostatic hyperplasia
e. mastitis

58. Identify the morphological changes of the pathological process:

a. fibrous tissue bundles 

b. adipose tissue 

c. dilated glandular ducts with proliferation of the epithelium 

d. focus of cancerous tissue with proliferation of atypical glandular structures;

e. tumoral cells with clear cytoplasm and polygonal shape

59. Consequences of pathological process in the image are:

a. nipple retraction

b. local edema and inflammation 

c. metastatic disease in lymph nodes, bone, brain, lung, or pleura

d. enlargement of the breast  

e. risk of malignancy 

60. What is it causes the pathological process in the image:

a. testicular atrophy or destruction 

b. cirrhosis of the liver 

c. estrogen-secreting tumor of the testis or adrenal 

d. increased gonadotropin levels 

e. oral contraceptive use

61.  Identify the name of the pathologic process:

a. testicular seminoma 

b. mature teratoma of testicle

c. tumor of leydig cells of testis

d. tumor of sertoli cells of testis

e. hydrocele

62.  Consequences of pathological process in the image are:

a. metastasis in the retroperitoneum or lung 

b. tumor cells may secrete androgens or estrogens 

c. may induce gynecomastia 

d. may induce liver cirosis

e. tumor cells secrete endorfins.
63. Identify the name of the pathologic process:

a. testicular seminoma.

b. mature teratoma of testicle

c. tumor of leydig cells of testis

d. tumor of sertoli cells of testis.

e. hydrocele

64.  What is it causes the pathological process in the image: 

a. trauma 

b. infection 

c. tumor of the testis 

d. mumps orchitis

e. Klinefelter's syndrome

65. Consequences of pathological process in the image are:

a. testicular atrophy 

b. enlarged testis

c. azoospermia 

d. enlarged scrotum 

e. testicular dysgenesis
